Engineering Mechanics - Statics: CE 203-01-023 

Homework 13 

Key Solution
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9-14 The state of stress at a point is shown on the elemen
Determine (a) the principal stresses and (b) the maximur
in-plane shear stress and average normal stress at the poin
Specify the orientation of the element in each case.
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049 The box beam is subjected to the loading shown.
Determine the principal stresses in the beam at points A
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9-74 Determine (a) the principal stresses and (b) the ma:
imum in-plane shear stress and average mormal stres
Specify the orientation of the element in each case.

30 MPa

45MPa

Prob. 9-74

&, =(o8)= 88 MPa
Oz = (0D) = =13+ MPa.





[image: image1.png]ﬁ/ ézu,l'lc'ff'l/’um %Mﬁ’d’ﬂf .

*8-56 The 1-in.-diameter rod is subjected to the load
EMX =0 shown. Determine the state of stress at point A4, and sho
- the results on a differential element located at this poin
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Note: The Mohr's circle shown above requires correction as:

         Normal stress at A  = - 400 kPa

         Shear stress at A kPa
!
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/r =) 1w~z ‘I'he beam is subjected to the load shown. Determine
the equations of the slope and elastic curve. EI is constant.
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12-109 Use discontinuity functions and determine the re
actions at the supports, then draw the shear and moment di
ﬂ)( +O =0 =5 /4)( =24 ’_@ agrams. EI is constant.
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Normal stress at A  = - 400 kPa


Shear stress at A  kPa
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